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MATRIX

PART I : PHYSICS

This section contains 10 Multiple Choice Questions (Q : 01 to Q : 10). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

1.

What is the formula for the magnetic force
experienced by a current carrying conductor
placed in amagnetic field ?

(A) F=BIL

(B) F=BILssinf

(C) F=BILcosH

(D) F=BIL tan6

In given circuit resistance across terminal A and
B will be.

A B
(A) 150

(B) 24Q
(©) 10Q
D) 45Q

The number of electrons that constitute 1 A of
current per second is

(A) 625 x 10'¢

B) 2.25 x10°1°

(C) 6.25x 1018

(D) 6.25 x 108

xxxxx (010221023 *#5xx

1.

JebI &7 ¥ W T fIgd gRTEE! add dR
SR 31¥d b S dTel e ae1 BT G
g ?

(A) F=BIL

(B) F=BILsin0

(C) F=BILcosH

(D) F=BIL tan0

&I T uRuy § A T2 B & 99 g UfoRig

A B
(A) 15Q

(B) 24Q
(C) 10Q
D) 45Q

gfd Whs 1 VAR gRT yaTfed &1 § Serag il
calkieiat

(A) 6.25 x 10

(B) 2.25x 101

(C) 6.25x 1078

(D) 6.25 x 10'8

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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The refractive index of glass and water with
respect to air are 3/2 and 4/3 respectively. The
refractive index of glass with respect to water is :
A) 8/9

B) 9/8

(©) 7/6

D) 2

When light travel from one medium to another
medium, which of the following does not change ?
(A) Frequency

(B) Wavelength

(C) Velocity

(D) Allabove

A ray is incident at an angle of indicent 30° on a
plane mirror then deviation produced by mirror is :
(A) 30°

B) 60°

(©) 90°

(D) 120°

Match Column — I with Column — II and

select the correct answer using the codes given

below.

Column -1 Column - 11

P. KWh 1. Volt Ampere
Q. Watt 2. Volt

R.EMF 3. Volt Coulomb

xxxxx (010221023 *#5xx

Dla JAT STl BT arg & AU AYaciATD HAT:
3/2 1 4/3 B | 1 DA BT ST B ATUET AP
I |

(A) 89

B) 9/8

(C) 7/6

D) 2

9 YHTY T HIH | R AT | S 8
fferRaa # | @ A ef saRafda & 21
(A) smafa

(B) @

(C) o

(D) SWRIad |

TATA gYUT R fHRor 30° & 3MUdH BT R
Jmafad Brell 8 a1 gUvT gRT S faderd 81 |

(A) 30°

B) 60°

(C) 90°

D) 120°

fau g dfeaA-I iR Bfew—II &1 3 fre
PR UG fdhed g IR QIfSTu—
Column -1 Column -I1

P. f5ell arc gver 1. dree VIR
Q.dfc 2. dlee

R.f3gd aresd ac1 3. dlee HAMA

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




MATRIX
Code: Code:
P Q R P Q R
A 2 3 1 A2 3 1
B 3 2 1 B 3 2 1
<3 1 2 < 3 1 2
Gy2 1 3 G)y2 1 3

Which of the following statement/s is/are

True(T) or False(F) ?

(i) When concave mirror is dipped in a
transparent medium then its focal length
changes.

(i) When concave mirror is dipped in a
transparent medium its radius of curvature
changes.

(iii) When concave mirror is dipped in a
transparent medium its focal length and
radius of curvature remain same.

Code:

@) (i) (iii)

AT T F
BT T T
(OF F T
DF T F

xxxxx (010221023 *#5xx

ey U A@—sr™ oAl # W 3fud fdwmeq

REEIIEI

(i) 9 s/Ede UV B YRS ATEgH H AR
ST § A1 ]UU BT By gu uRafid
BT |

(i) ST ST SV P YRS ATEgH H QAT
ST 8 a1 g4l @ aghan e uRafda
BT |

(iii) ST9 ST UV P YRS ATEgH H QAR
ST & I YO BT BIHd g3 qAT gehell
o sRafta &)

Code :
(i) (i) (iii)

A T T F

B T T T

(O)F F T

M F T F

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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Paragraph for Questions 09 & 10

If I current flows in a straight wire then
magnitude of magnetic field at d perpendicular
distance is given by

b bl
2nd

Here we have two straight parallel conductors

(Where p, =4nx10"Tm/A)

of equal length as shown in figure.

P.

y

—1<—>>°<<—>r—i

o

d
R >

Magnitude of total magnetic field at point X

which is midway between wires is.

Bl
2nd

(A)

Bl
) R

nl
© 4nd

(D) Zero

Both conductors will

(A) Attracteach other
(B) Repel each other

(C) No force act on them
(D) Both(A)and (B)

xxxxx (010221023 *#5xx

10.

Paragraph for Questions 09 & 10

I fdl WY AR ¥ g7 yarted e 8 a1 ar
H d TEad g R G &3 BT A freferiead
3 9 & o B |

b bl
2nd

Jef o ¥ T FHHGR Uh o b URMER!
et IR I T B

(Where p, =4nx10"Tm/A)

P.

y

—le——se——

o

d

R

SFI ARl @ 7 fIg X )R |/l g & &
aRATT BT |

(A)
B) —-

© 44
(D) Zero

QM ATAD TR U GAX DI

(A) e AT

(B) ufimiia &

(C) TAI W B3 9 B ol BT
(D) (A) Tem(B) <l

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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MATRIX

PART II : CHEMISTRY

This section contains 10 Multiple Choice Questions (Q : 11 to Q : 20). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

11.

12.

13.

14.

Which of'the following is not a mineral acid ?
(A) Hydrochloric acid

(B) Citricacid

(C) Sulphuricacid

(D) Nitricacid

Sodium carbonate is a basic salt because it is a
salt of-

(A) Strong acid and strong base

(B) Weak acid and weak base

(C) Strong acid and weak base

(D) Weak acid and strong base

Which of the following are present in a dilute
aqueous solution of hydrochloric acid ?

(A) HO"+CI

(B) H,0"+OH"

(C) CI'+OH"

(D) Unionised HCI

Which of the following reactions involves the
combination of two elements ?
(A) CaO + CO,— CaCO,

1
(B) 2Na+ - 0,—> Na,0

1
(©) SO, + 0,—> SO,

(D) NH, +HCl—> NH,CI

xxxxx (010221023 *#5xx

11.

12.

13.

14.

1 % & rpH® e (@feoT ar) TR 8 ?
(A) BTSSIHARID I

B) fafe® e

(C) HeRRe® 3t

(D) Tgfed s

[fSTT BEMC TP TRIT a9 & Rifd 39
SqOT T FETOT ot B—
(A) ¥9d 3T 9 Udel &R R

(B) gdd 3 9 Gadl &R gRI
(C) Yact 371 9 gaol &R gRI
(D) gda A @ U &R gRI

BSSIFAIRD A & STl faerad § Ry ST
s _

(A) HO'+CI

(B) H,0'+ OH

(C) Cl'+OH

(D) R HCI

= 9§ 9 oD R 1 dal & GIN B
Uef3rd ®Ral 8§ ?
(A) CaO + CO, —> CaCO,

1
(B) 2Na+ - 0,—> Na,0

1
(©) SO, + 0,—> SO,

(D) NH, +HCl—> NH,CI

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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16.

17.
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In exothermic reaction, the reactants.

(A) Haveless energy than the products formed

(B) Have more energy than the products
formed

(C) Areatlower temperature than products

(D) Have equal energy as products

Which of the following metals is protected by a
layer of'its oxide ?

(A) Copper

(B) Silver

(C) Iron

(D) Aluminium

Match Column — I with Column — II and

select the correct answer using the codes given

below.
Column -1 Column —I1
P. Plaster of paris 1. CaOCl,

1
2. CaSO,. 7H,0

3. CaSO,. 2H,0

Q. Gypsum

R. Bleaching powder
Code:

P Q R
a1 2 3
B 3 2 1
<2 1 3
D2 3 1

xxxxx (010221023 *#5xx

15.

16.

17.

SeTEndt AfAfohar 7 SRS (FharhR®) B B
(A) IR P JAT H HH FHoll dlel
(B) IAE B TN H AfAE ol arel

(C) IIE H JA § A M arel
(D) SR & FAF JHpoll arad

1 & I P g1g ST B offaTse B wRd
ERT gRi&d Bl © |

(A) DR

B) =R

(C) (Fe) (@ma=T)

(D) Tt

fav v Biem—1 3R Siera—11 &1 SR ferm
IR WY fAded grdr IR dIRTg—

Column - 11
1. CaOCl2

Column -1

P. wiReR 3 oy
1

2. CaSO,. EHzO

3. CaSO,. 2H,0

Q. T=H

R.fixwid 7l
Code:

P Q
A1 2
B) 3 2
© 2 1
D) 2 3

— W = Wy

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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Which of the following statement/s is/are 18. U U H@—3N doAl § ¥ Sfa fdwey
True(T) or False(F) ? EAT+TI—
(i) Bases are bitter and turn blue litmus red. () &R W& ¥ H$d B &, qA 7t foleHaq
T B A H gRafid w2 |
(ii) Bases have a pH value less than'7". (i) &= & forg pH &1 949 '7' | &H 81 8 |
(iii) Bases turns pink when a drop of phenol (iii) Ao Yo @ U@ 47 aR™ Aead
phthalein is added to them. H ST W 9 A T IR PR B
Code: Code:
(i) (i) (i) (i) (i) (iii)
AT F F AT F F
BT T T BT T T
©F F T ©F F T
®F T F ®F T F
Paragraph for Questions 19 & 20 :-, Paragraph for Questions 19 & 20
If a substance gains oxygen or loses hydrogen g e o1 ugrd fodd! e Affhar & SR
during a chemical reaction, it is oxidised. If a § JNRIST BT U-VT T BTSSIoTT bl W &l B, @l
substance loses oxygen and gain hydrogen ¢ g8 et Sifefigd B <81 2| At BIs e
during a chemical reaction, it is reduced. % ol sfe Wfhar & SRM fRieH
Oxidation reactions are frequently observed in I T 9 EIEQIo U8V &R &l &, dl I8 ucred
everyday life. yafyd & g ¥ | Sifefiwmrer rfdforarg
HAEITIT & Siad H <&l Sl § 2
In the reaction, Br, + 2I'— 2Br + L, the 19.  f=1 sfdfbar Br, + 210 — 2Br + LH

oxidising agent is :
(A) Br,
®) I
(C) Br
O 1,

SfRABPRS E—
(A) Br,
®B) I
(C) Br
D)

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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Identify the substance that is oxidised and the
substance that is reduced in the following
reaction.

CuO(s) + H,(g) —> Cu(s) + H,0())

(A) CuO,H,

B) H,.CuO

(©) H,0,Cu

D) Cu,H,0

xxxxx (010221023 *#5xx

20.

fforiaa siffshar § e uared sifediad
BT 3R PI4T AUAdd, ggdIy |

CuO(s) + H,(g) —> Cu(s) + H,0())
(A) CuO,H,
B) H,.CuO
(C) H,0,Cu
D) Cu, H,0

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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PART III : BIOLOGY

This section contains 10 Multiple Choice Questions (Q : 21 to Q : 30). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

21.

22,

23.

24.

In case the ova does not fertilise which of the
following events will take place ?

(A) Menstruation

(B) Preganancy

(C) Implantation

(D) Ovulation

The ability of an organism to develop whole body
from a broken piece or fragment is called :

(A) Binary fission

(B) Budding

(C) Multiple fission

(D) Regeneration

In a closed circulatory system blood is
completely enclosed within :-

(A) Vessels

(B) Heart

(C) Skeleton

(D) Sinuses

Which of the following are chiefly digested in
the stomach ?

(A) Carbohydrates

(B) Proteins

(C) Lipids

(D) Fats

xxxxx (010221023 *#5xx

21.

22.

23.

24,

If freft SR | sve ffaa =&t &), a1 ®
ar = & | PR fopa 2t 2
(A) g Ha

(B) THeROT

(C) safoor

(D) smeic

fordl e % S9® g gY @l | ol ofig g
DI AT HEAR T—

A) fe—fawsT

(B) FBed

(C) vgfawresd

(D) giog wad

U d& URIERT T3 H Yo YuI avE fhad foRT
REdl © ?

(A) arfe@re

(B) &

(C) @ 4§

(D) g o

1§ & o # Y=g wu 9 uifad 8 arell
g7

(A) FrEfEESeH

B) ucH

(C) forfus

(D) awr

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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26.
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Which one is correct for parasitic organisms ?
(A) Cuscuta, Leech

(B) Cuscuta, earthworm

(C) Fungi, leech

(D) Cuscuta, fungi

Which option is correct for following pairs ?
(A) Leishmania, Amoeba

(B) Leishmania, Bryophyllum

(C) Amoeba, Bryophyllum

(D) Hydra, Leishmania

Match Column — I with Column — IT and
select the correct answer using the codes given

below.

Column - 1T

1. Ballon like
2. Dead

3. Long tubular

Column-1I
P. Nephron
Q. Alveoli
R. Tracheids
Code:

P 0
A1 2
®B) 3 2
© 3 1
D 2 3

—_— N = Wy

xxxxx (010221023 *#5xx

25.

26.

27.

1 A 9 wReldl & ol 98 fadey 2|
(A) TR, SATH

(B) MR, Hgal

(C) Fa®, Sid

(D) RIS, Hadb

71 9 9 DI [ddhea g1 &7
(A) AT, s

(B) <R, UeRTcel

(C) Fd1, geRFacel

(D) TTEgl, A

37 77 Bicw-1 iR Bfaa—I1 &1 Sfd fem
PN UG fdbed gy IR SIfoTu—

Column -1 Column - 1T
P. 1. TR S
Q. 3Dy 2.3
R. g1fferept 3. &= Aot
Code:

P QO R
a1 2 3
B 3 2 1
<3 1 2
D)2 3 1

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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Which of the following statement/s is/are 28. fou U W™ Nl # 9 Sfud fawey
True(T) or False(F) ? RECIIEIC
(i) Multiple fission is a type of cell division. () FEAEST PIR® S BT 7P ThR B |
(ii) Inmultiple fission a single cell divides into (i) IZTved ¥ va IR 9gd I A
many daughter cells. HIRTE1eT # fawifea gxfl 2|
(iii) Multiple fission occurs in amoeba. (iii) IZREUS FfaT # <@ BT fAerar 2|
Code: Code:
(i) (i) (i) (i) (i) (iii)
A T F F A T F F
BT T T BT T T
©F F T ©F F T
O F T F O F T F
Paragraph for Questions 29 & 30 Paragraph for Questions 29 & 30
'A’ organism reproduce by budding using the £ 'A' S H q@ed fafd g’ e @1 g
regenerative cells. A bud develops as an E‘, FE= B © | FOTTH gRfavTaT ifdiest |ftdferd
outgrowth in'A' due to repeated cell divisionat & BT 2 | o o a8 R AR e 9
one specificity. E gl BT FE01 BT 2 3R 'A' R T aAfaglg
g I ST B |
¥
X
Read the statement and tick the correct option. SRIFT BT P TSHR Fe! fdded BT gy |
Whatis'A"? 29. 'A'®nE?

(A) Hydra
(B) Amoeba
(C) Bud
(D) Rhizopus

(A) BIES
(B) 3T
(€) gB
(D) YTgSTH

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




MATRIX
30.  Aparthelpintaking food in'A' organism : 30. 'A'Si9 | @ U T8 R & oy FErd
3T B—
(A) Tentacles (A) RS
(B) Pseudopodia (B) @cuR
(C) Cila (C) uen™
(D) Flagella (D) HemHET

xxxxx (010221023 *#5xx

Space for rough work
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PART IV : MATHEMATICS

This section contains 30 Multiple Choice Questions (Q : 31 to Q : 60). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

31.

32.

33.

The quadratic equation, whoseroots are 3 and—3 is :
(A) x2+9=0

B) x*-2x+2=0

(C) x>-3x+3=0

(D) x*-9=0

Find x and y in the given rectangle :

13
A Xy

3x+y

O, 7

D

13

(A) x=1,y=4
B) x=4,y=1
(C) x=2,y=2
D) x=3,y=1

The present age of a father is the sum of the
ages of his three sons. Ten years from now his
age will be a three quarter of the sum of their
ages then.How old is the father ?

(A) S0years

(B) 30years

(C) 40years

(D) 60 years

xxxxx (010221023 *#5xx

31.

32.

33.

fgema TR0, f¥d Jo 3 iR -3 B
(A) x2+9=0

B) x*-2x+2=0

(C) x2—3x+3=0

(D) x2-9=0

fQq Y omd 9 x 3R y &1 99 S HRI —

13
A Xy

98]
%
<
O 7

13

(A) x=1,y=4
B) x=4,y=1
(C) x=2,y=2
(D) x=3,y=1

O @1 9| Y, I A GA DI 3G B
ANThel & HHA © | 3d | <4 Fiel g1 foa &
AR, S AT GAT DI MG & IR B A
ZeTg X8 Q! | AT @Y a|r Iy a8 P
(A) 50 |
(B) 30 &7l
(C) 40 &t
(D) 60 |
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36.

37.

OLYMP!AD

MATRIX

A man bought 4 horses and 9 cows for Rs.
1340. He sells the horses at a profit of 10%
and the cows at a profit of 20% and his whole
gain is Rs. 188. What price did he pay for a
horse ?

(A) Rs.200

(B) Rs.210

(C) Rs.220

(D) Rs.240

Find all the common zeroes of the polynomials
x*+ 5% —9x —45 and x* + 8x> + 15x

(A) 5,3

B) 5,-3

(C) 5.3

(D)-5,-3

Which of the following is the polynomial whose

4442 4-\2
2 7 '

2

Z€roc€s arc

(A) 2x>+8x -7
B) 2x>—8x+7
(C) 2x>+8x+7
(D) 2x*—8x -7

If AABC ~APQR, AB =6.5 cm, PQ =10.4
cm and perimeter of AABC = 60cm, then the
perimeter of APQR is :

(A) 65cm

(B) 96cm

(C) 60cm

(D) 104 cm

xxxxx (010221023 *#5xx

34.

3S.

36.

37.

T 3MEHT 4 ©TST 3R 9 Al & 1340 w0
H EEHY AR AR SE "8l Bl 10% o
qem A B 20% A IR 991 @l SH FHo
188 3T HT A9 UT 3T, | BT foha T
q ©lrer ?

(A) Rs.200

(B) Rs.210

(C) Rs.220

(D) Rs.240

TEIGT X° +5x2—9x — 45 3R x* + 8x2 + 15x &
S T3] |

(A) 5,3

B) 5,-3

(C) 5,3

(D) -5,-3

1 9 | P11 98U B, D IR HA:
4+\/§’4—\/§ 50

2 2
(A) 2x>+8x -7

(B) 2x>—8x+7
(C) 2x>+8x+7
(D) 2x>— 8x —7

afd  AABC ~APQR, AB = 6.5 91, PQ =
10.4 9 3R AABC &1 uRemg 609+ &1 ar
APQR &1 afR¥mg 8-

(A) 65

(B) 96 1+

(C) 607+

(D) 104 3

Space for rough work
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38.

39.

40.

41.

the line joining the points (1, 3) and (2, 7)
internally ?

(A) 3:4

B) 3:2

(C) 2:3

(D) 4:3

MATRIX
OLYMP/AD
Inthe given figure, if AB | CD, then the value of X s : 38. fay v o= 9 afd AB||CD, dd x &I A 8FT—
A B A B
4 4
0 0
44»\2 4,}»\2
D C D C
(A) 6 (A) 6
B) 8 (B) 8
©) 3 ©) 3
D) 9 D) 9
The line joining the midpoints of two sides of a 39. B @1 1 Yol & 927 fdgel @1 fam
triangle is : el ¥ Bl B—
(A) Bisector of the third side £ (A) T YT B FAGUTSTD
(B) Perpendicular to the third side i (B) R Yo R o
(C) Parallel to the third side § (C) S ot & qAR
(D) None of these S (D) 37 | BIE T
N
o
The points (1, 1), (-2, 7) and (3, —3) are: 6 40. f5(1,1),(2,7)3R(3,-3)5—
(A) Vertices of an equilateral triangle i (A) |xeag Bys & oY
x
(B) Collinear 1 (B) W
(C) Vertices of an isosceles triangle (C) wefgag s & oY
(D) None of these (D) 3 ¥ ®IE T2
In which ratio, the line 3x +y—9 =0 divides 41. @ 3x+y-9=0,f31 (1,3)3R(2,7) @I

SIS dTef YT B fhd a3 favTii
Rl B
(A) 3:4
B) 3:2
(C) 2:3
(D) 4:3

Space for rough work
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43.

44.

45.

MATRIX
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The value of % will be : 42. % H1 A BT
(A) cos 60° (A) cos 60°
(B) sin60° (B) sin60°
(C) tan60° (C) tan 60°
(D) cot 60° (D) cot 60°
The value of (1 + tan® + secO) (1 + cotd — 43. (1 +tanB +secO) (1 + cotd —cosecO) &1 A9
cosech) is : T
(A) 0 (A) 0
B) 1 B) 1
©) 2 ©) 2
D) 2 D) 2
If X tan 45°c0s60°= sin 60°cot60°, then the % 44. AR x tan 45°c0s60°= sin 60°cot60° & T x F
value of x will be : é HE B |
@ 5 5 @ 5

2 g 2
B) 0 5 (B) 0

x

(©) ? (©) ?
D) 1 D) 1
Aboy 1.5mtall is 23.5 away from a tower 25 45. 1.5 ¥IcY oW1 ASdT 25 Hiek $aTs Tl TiaR

m high. The angle of elevation of the top of the

tower from eye of the boy will be :

(A) 45°
(B) 60°
(C) 30°
(D) None of these

¥ 23.5 4R @1 T W TS ©, ASH DI AT
H TR & RRER W 949 el a9 BI9T
EN—

(A) 45°

(B) 60°

(C) 30°

(D) ST ¥ BIE T

Space for rough work
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47.

48.

49.
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The (n—1)"term of an A.P is given by 7, 12, 46. & S FEFR AN 7, 12, 17 22, e Gal
17,22, e is (n—1) a1 9 BrT—
(A) 5n+2 (A) 5n+2
(B) 5n +3 (B) 5n +3
(C) 5n-5 (C) 5n-5
(D) 5n-3 (D) 5n-3
If the sum of n terms of an A.P. is 3n* + 5n then 47. IR &N IR 200 & n YGT BT IS 3n +
which of its term is 164 ? 5n 81 A1 S9 AR S0 BT DA U 164 § ?
(A) 26" (A) 26"
(B) 27" (B) 27"
(C) 28" (©) 28"
(D) 29 (D) 29
If the polynomials ax® + 4x2 + 3x —4 and ¥ 48. IR 9gual ax® +4x2+3x—4 AR —4dx +a
x? — 4x + a leave the same remainder when E-, B (x — 3) A fOfod =1 R Aha A
divided by (x — 3) then the value of ais : g IEdT €, I9 a B 719 8-
(A) 2 8 (A) 2
®B) -1 O ®B) -1
©) 1 i ©) 1
¥
(D) -2 (D) -2
If o, B, y be the zeroes of the polynomial 49. AR o, B,y IS x> +4x>+Xx— 6D LD 34

x3 +4x? +x — 6 such that product of two of the
zeroes is 6. Find the third zeroes :

(A) 6

B) 2

(C) 4

D) 1

TR & 1 YRTHT BT YOTHA 6 8 q9 AAR
AT S BRI —

(A) 6

(B) 2

(C) 4

D) 1

Space for rough work
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51.
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If p = HCF (100, 190) and ¢ = LCM (100,
190), then p?g?is :

(A) 3.61 x 10°

(B) 3.61 x 106

(C) 361 x 10°

(D) 3.61 x 108

Match Column — I with Column — II and

select the correct answer using the codes

given below.
Column -1 Column 11
sin 0° fsinds 1 1—\/§
: oosgo° | Sin . )

Q. c0s60°—sin60° 2.1

cos’ 30°—cos’ 60° 3 B
"sin’ 60°—sin®30° T 2
Code :

P O R
A2 3 1
®)3 1 2
©3 2 1
™1 3 2

xxxxx (010221023 *#5xx

50.

51.

afd p=93417(100, 190) 3R g =49 (100,
190), T p2q> &1 A 1T |

(A) 3.61 x 10°

(B) 3.61 x 106

(C) 361 x 10°

(D) 3.61 x 108

fau 0 dferm—1 3R dfem—11 &1 IRid B

PN UG fdbed gy IR SIfoTu—

Column - 11

ﬂ}

+ sin 45° 1.( >

Column -1

sin 0°
* c0s89°

Q. cos60° —sin60° 2.1

cos’ 30°—cos’ 60° 3 B
"sin’ 60°—sin’30° T 2
Code :
P O R
A2 3 1
®)3 1 2
€3 2 1
™1 3 2

Space for rough work
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Match Column — I with Column - IT and
select the correct answer using the codes

given below.

Column - 11
1. AA similarity

Column-1I
P. In AABC
and APQR,
AB AC
PQ PR’
LA=/P
=AAB C ~ APQR
Q.InAABC and
APQR, LZA=/P,
/ZB=2Q
=AABC ~ APQR
R.In AABC and
APQR,
AB AC BC
PQ PR QR
=AABC ~ APQR
Code :
P
(A) 1
B) 2
) 3
D) 1

criterion

2. SAS similarity

criterion

3. SSS similarity

criterion

W= = DR
NN W Wy

xxxxx (010221023 *#5xx

52.

fau v Bifd¥—I 3R Bied—I1 &1 S B

PN UG fdbed gy IR <IfoTu—

Column-1I Column - IT
P. AABC 3R APQR 1. AA S+ dal
AB_AC
PQ PR~
LA=/P

=AABC ~ APQR

Q.AABC 3R APQR 2. SAS Foud
#, LA=/P,
/B=/Q
=AABC ~ APQR
R.AABC 3R APQR 3. SSS wHwTa
_AB_AC BC
PQ PR QR
—AABC ~ APQR

Code :

P QO R
A1 2 3
B2 1 3
<3 1 2
1 3 2

Space for rough work
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Match Column — I (Pair of lines) with 53. fau MU ofem-I (Rees wfiaxol &1 gw) iR
Column - II (Graphical representation)and DieE—11 @y freuv)er S A wr Iugdd
select the correct answer using the codes fadhed gadHy IR QfSTT—
given below.
Column -1 Column - 1T Column -1 Column - 1T
P. 2x + 3y =40, 1. Coincident lines P. 2x + 3y =40, 1. urcdt vy

6x + 5y =10 6x + 5y =10
Q.2x + 3y =40, 2. Intersecting lines Q.2x + 3y =40, 2. gfaresdl Y@

6x + 9y =50 6x + 9y =50
R.2x + 3y =10, 3. Parallel lines R.2x + 3y =10, 3. IR Y@

4x + 6y =20 4x + 6y =20
Code : Code :

P O R P O R
A1 2 3 ! A1 2 3
®)3 2 1 : B3 2 1
©2 3 1 Q 2 3 1
™1 3 2 § ™1 3 2
Which of the following statement/s is/are g 54. o U W@ weEl # 9 Sfud fawe
True(T) or False(F) ? : TEAT+Tu—
(i) IFHCF (306,657)=9, then LCM (306, = () IR A= (306,657)=9 79 @G, (306,
657) =22339. 657) =22339

(i) 2.5isanirrational number between 2 and 3. (i) 2.5,23R3 @ 919 BT URTT FEAT B |

_ _ 167
(iii) The sumof 0.6+0.7 +0.47 is 950
Code :
(i) (i) (iii)

(AT F F
BT T T
(OOF F T
MF T F

_ _ 167
(i) 0.6+0.7+0.47 &1 A THA 9—%|

0
Code :
() (i) (iii)

(AT F F
BT T T
(OOF F T
MF T F

Space for rough work
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56.
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Which of the following statement/s is/are 55. fou U W Nl # 9 Sfud fawey

True(T) or False(F) ? ggarg—

(i) If-5isarootofthe quadratic equation () feoma Fe 2x2 + px — 15 =0 &1 Tdb
2x2+px—15=0thenp=7. I 58 A p=7 BT |

(ii) 240 is the least positive integer divisible (i) 203iR 24 ¥ WIRTG Fe9 BITT TS
by 20 and 24. qurie 240 2 |

(iii) (x—2)> +1=2x-3isalinear equation. (iii) (x—2)>+1=2x—3 7% RgPh AHHIT ¢ |

Code : Code :
() (i) (iii) () (i) (iii)

(AT F F (A)T F F

BT T T BT T T

CF F T C)F F T

M F T F M F T F

W hich of the following statement/s is/are 56. fau U W—e @ wEl W 9 3fUd fadme

True(T) or False(F) ?

-8
(i) The distance between the point. (? ) 2j

and (%a 2) is 2 units.

(i) Ifthe coordinates of one end of diameter
of circle and origin are (1,4) and (3, —4)
respectively, then coordiantes of other end
will be (5, 12).

(iii) The points (1,—1),(5,2) and (9, 5) are

collinear.

xxxxx (010221023 *#5xx

ygaru—

(i) fogart (%82) 3R (%2) B a1 B

2 THE B
(i) P 3T & = > B MR AR I &
e waen (1,4) 3R (3,—4) 8 41, 31

R & fadens (5, 12) 8 |

(i) 95 (1,-1), (5,2) 3R (9, 5) W@ B |

Space for rough work
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Code : Code :

() () (iii) () (i) (iii)
AT F T AT F T
BT T T BT T T
CF F T CF F T
O)yF T F D)yF T F

Paragraph for Questions 57 & 58

Decimal from of rational numbers can be
classified into two types
e Let x be a rational number whose decimal
expansion terminates. Then x can be expressed
in the form p/q, where p and q are co-prime
numbers and the prime factorisation of q is of
the form 2" x 5™ Where n and m are
non-negative integers.
o Letx =p/q be arational number such that the
prime factorisation of q is not of the form 2" x
5™ Where n and m are non-negative integers,
Then x has a non terminating repeating decimal
expansion.
Based on the above in formation answer the
following questions.
Which of'the following rational number have a
terminating decimal expansion ?
(A) 2

15

5 S
()450

xxxxx (010221023 *#5xx

57.

Paragraph for Questions 57 & 58

URAT FEARI & GIMEd Wd Bl & BRI H
g faan o1 qahdr 2 |

o AMI X U URHAY W1 & NI qMed

IR A 8, 99 X DI p/q P w9 H o b
ST el 8, SRl p AR TSI F&ATT 8 3R
q B 3T OGS 2" x 5" B ®Y H B
& n 3R m IR FUTHS YU FEaTg € |

o AT X = p/q TP URFT I 39 UPKR 8 b
q & I PPOAES 2" x 5" B HY H AT B
ST n 3R m IR FOMHS AEIT B 9 X B
ST YRR 37T 3T Brell & |

STYHR SFHRI B AFAR A1 (3T T Farell &
SEICACI I
9 5 | D) IRTT = BT 9D TR
NGRS
(A) 2

15

5 S
()450
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59.
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©) 2L ©) 2L
400 400
(D) % (D) %
27 x5 x7 27 x5 x7
For which of the following value of p, 232 3;2 58. p@ &9 A9 & fog S % P YA
is terminating decimal number ? J9R A © |
(A) 3 (A) 3
B) 7 B) 7
©) 5 ©) 5
(D) Allofthese (D) SWrad a9
Paragraph for Questions 59 & 60 Paragraph for Questions 59 & 60
Two hoardings are put on two poles of equal AN $HA8 B & G R BIIS™, P & Qi
heights standing on either side of the road. From % IR WS | aF W™ B 9T H dSh R Uh
apoint between them on the road (not the mid 3‘; g (S S71eh1 #e fo=g 7181 ©) A QT W1 Bl
point) the angle of elevation of the top of poles g ST BV HA: 60° R 30° T TAT TAD
are 60° and 30° respectively. Height of the each § T B Harg 20 Hex B |
poleis 20 m. )
Based on above Information, answer the % FHWR ] TS THBR] B YR W 7 Ui &
following questions. (Take /3 =1.73) 1 IR AT (/3 = 1.73 51)
city Ilf%nur chool %Zad' city Ilf%nur chogl laEl\Zad
20 m 20 m
l n i X 30° ) l n i X 30° af
The width of the road is : 59. IS @I A@rS o—
(A) 31.23m (A) 31.23m
B) 35.68m B) 35.68m
(C) 39.73m (C) 39.73m
D) 46.13m D) 46.13m

Space for rough work
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60.  Find the length of RO.

(A) 20m

(B) 203 m
(C) 203 m

(D) None of these

60.

xxxxx (010221023 *#5xx

RO & @18 =1d & |
(A) 20m

(B) 20,3 m

(C) 203 m

(D) T | DI T

Space for rough work
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MATRIX

PART V : LOGICAL REASONING & 1Q

This section contains 10 Multiple Choice Questions (Q : 61 to Q : 70). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

Direction (61-62) : A number series is given with

61.

62.

63.

one term missing shown by question mark
(?). This term is one of four alternatives
given under it. Find the correct
alternative.

109, 74, 46,25, 11, ?

(A) 3

B) 0

<) 1

(D) 4

3,20, 63, 144,275, 2
(A) 554
(B) 548
(C) 468
(D) 354

From point 'A' Raju walks 20 m to the North.
Then turns left and walks 20 m to reach at point
B. Find distance between Aand B ?

(A) 20m

(B) 40m

(C) 40042 m

(D) 2042 m

xxxxx (010221023 *#5xx

Ao (61-62) : vd® 7 v GEr-9oft & =i 8,

61.

62.

63.

fored var yg gw & ford g qas s (?)
@ grfar T 81 I8 ug 99 it & AiA 3
T4 IR Aseal 5 4 vF 81 W8l Adey Fa
PTG |

109, 74, 46, 25, 11, ?

(A) 3

(B) 0

(C) 11

(D) 4

3,20, 63, 144,275, 2
(A) 554
(B) 548
(C) 468
(D) 354

g 'A' 1 <151 20 e IR fawn F Ferd B |
fbx aT¢ Fan © @ik B R ugem & firg 20 #iex
T 2 1A T B 919 @1 g3 918y ?
(A) 20 #rex

(B) 40 #rex

(C) 40042 #ex

(D) 2042 #rex

Space for rough work
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65.

66.
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In arow of boys, Srinath is at 7" place from 64. ISHI @ ful ufda #, S AR W 74 e

the left end and Venkat is at 12" place from the REAA I I A 2d WA R T AR T

right end. If they interchange their positions, g+ R 1 M9 # 98t <d 8 7T o9

Srinath becomes 22" place from the left. How R W 229 M W B S 2| U § g

many boys are there in the row ? e oTsa 2 |

(A) 19 (A) 19

B) 31 B) 31

(C) 33 (C) 33

D) 34 D) 34

Four player P, Q, R and S are standing in a 65. R RgemSt P, Q,R3MR S TP Wl He™ # g9

play field in such a way that Q is to East of P, R YR @ & {6 Q,P & gd # 8 R, P& <famr

is to the South of P and S is to the North of P. HEARS,PH IR AR S, Q9 fpw fawm #

In which direction of S with respect to Q ? M g7

(A) North : (A) SR

(B) South § (B) afeor

(C) North-West N (C) STR—uf¥gw

(D) South-West g (D) cferor—ufezs

In arow of students , Ais at 6" place from the % 66. BHEI & UH Ufdd H, A9 § B3 WM R &
¥

left end and B is at 10" place from the right end.
If there are 8 students between A and B, then
maximum number of students in the row is :

(A) 23

(B) 24

(C) 26

(D) 25

3R BER 9 <9d WM W 2| Al AR Ba
e 8 BTF & ol Ufdd H Gl 31fad foha B
g7

(A) 23

(B) 24

(C) 26

(D) 25
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Five students are sitting in arow. T is on the im- 67. UG BEUP UG H 95 €1 1,2 Sd e/l
mediate right of Z. M is on the immediate left of IR B3R M, Z & 3% 901 3R 8 fg M, L
7 but M is on the immediate right of L. T is on % AH MR I T, Qb M AR T | I A
the left of Q. Who is sitting first from the left ? gl DI o ?
(A) Z (A) Z
B) Q B) Q
©) T ©) T
(D) L (D) L
In a class, P has more marks than Q and R 68. FETH P& 3® QW 3P T dA RSB 3
does not have the least marks. S has more marks AIH TF 81 2| SD 37 T 4 s den T
than T and T has more marks than P, who 3P P I A B 38 9 F9d 37 Iad &H
among them will have the least marks ? =
(A) P x (A) P
B) Q : ®) Q
(O S €) S
D) T ~ D) T

N
If'<' means'—', ' means +,'='means 'x'and ¢y 69. AR '< BT aref ', > B apef +, = B apef X!
'@' means '+, then what will be the value of % IR'@ F1 e '+, 8, A 7=4<8=3>39 @
7=4<8=3>39@3? 1 3 1 | R B ?
(A) 10 (A) 10
(B) 17 (B) 17
(©) 39 (©) 39
(D) 52 (D) 52

Space for rough work
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In following question given below, one
question and two statement numbered 1
and II are given. You have to decide
whether the data provided in the statements
are sufficient to answer the question or not.

Read both the statements and give an

appropriate answer.

Question : In a certain code language 'pu ma

kas' means 'we eat mangoes'. What is the code

of mangoes ?

Statement - I : 'lati kas' means 'we are graduate'.

Statement - II : 'hum tup pu' means 'they eat

bananas'.

(A) The data in statement-I alone is sufficient
to answer the question.

(B) The data in statement-II alone is sufficient
to answer the question.

(C) The data in statement-I and statement-II
together are sufficient to answer the
questions.

(D) The data in neither statement-I nor
statement-II are sufficient to answer the

questions.

xxxxx (010221023 *#5xx

70.

= v v fA=feiféya go= A, U g9 a1
gt @ I @on I Ry 71w &8 39 fAvfg
ffore f ol 7 Rar wam 3iipe 999 &1
v 39 P forv gafa & a1 98 g FYA
! g2 3 Sfag SO &/

ueHd : Ueh FR¥d g Wi § 'pu ma kas' &1

'we eat mangoes' H8 SITAT 2 | 'mangoes’ &1

HE R B ?

FoA-1 : 'lati kas' &1 372 § 'we are graduate’.

F24-11 : 'hum tup pu' &1 3rf ¥ 'the eat

bananas'.

(A) dad HE-1 # QY Y sffhs U= &1 SR
ERACACINERIE

B) dad HE-I1 # Ty Y 3ffee ue &1
IR <1 & forg gata 2|

(C) Bu=-1 Ton w11 § Ay T ifdws Tdh
A1 PR JeT Pl IR & B oY gaTed
=

(D) =1 a1 HF-1 AR 1 HE-11 5 QY 1Y

AT U BT SN <+ P oIy T 2 |

Space for rough work
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